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Real life application

The cannon ball flies through the air, following a parabpk2 + 0.12x 0.002x¥
The land slopes upwarg:= 0.15x
Where does the cannon ball land?

https:// www.mathsisfun.com/algebra/systerdmear-guadraticequations.html

Av The system is:
Y = 240.2x-0.002x%
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Graphicmodeling of equatiosystems, usingseoGebra
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gle) =axr+0b

Puncte de intersectie: A(-1, 4), B(3, 0)
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Graphicmodeling of equatiosystems, usingseoGebra
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y=—lzx+ -5
0
Puncte de intersectie : A(1, -6), B?
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Solve the system, algebraically, thearify, modelingthe graph®f the equations:
W W v
W TW LT

y =1z +|5

Yy = —4x? 4+ 5 —4
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Solve the system, algebraically, thesrify, modelingthe graph®f the equations:
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Punctele de intersectie sunt:
A(-1, -7), B(2, -1)
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Solve the system, algebraically, thesrify, modelingthe graph®f the equations:
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